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Algebra I1 Writing Linear Equations (Sep 28" 2020 )

Write an equation in slope-intercept form for the line described.

1. slope 3, y~intercept at —4

3. parallel to y = —j-x + 6,
passes through (6, 7)

5. perpendicular toy =—4x + 1,
passes through (-8, -1)

7. parallel to y=9x + 3,
y-intercept at -2

2. perpendicular to y = %—~ 1,
Passing through (4.-2)

4. parallel to y Z—Ex— 2,
passing through (0,2)

6. slope %, y-intercept at —10

8. slope 2, passes through (12, 4)

Write an equation in slope-intercept form for each graph.
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Writing Linear Equations with the given slope and passing through the given point ( Sep 29", 2020)

Write an equation in slope-intercept form for the line that satisfies each set of conditions.

1. slope 3, passes through (1, -3) 2 slope -1, passes through (0, 0)

3. slope -2, passes through (0, =5) 4. slope 3, passes through (2, 0)

5. passes through (-1, -2) and (-3, 1) 6. passes through (-2, —4) and (1, 8)
7. passes through (2, 0) and (0, -6) 8. passes through (2.5, 0) and (0, 5)

9. passes through (3, 1), perpendicular to the graph of y = —%x -4,

Chapter 1 Algebra Ji
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Writing Linear Equations Review (Sep 30" 2020)

Write an equation in slope-intercept form for the line described.

1. slope %, y-intercept at —10 2. perpendicular to y = —;— +1,
y-intercept at -4

3. parallel t0y=§x+6, 4. parallel toy=—ix+2,
passes through (1, 3) y-intercept at -3
5. perpendicular toy = 9x +3 6. slope 2, y-intercept at -1

passes through (-8, 3)

7. parailel to, y=4x + 1, 8. slope %, passes through (1, 2)
y-intercept at —2

Write an equation in slope-intercept form for each graph.

9, TELTT 10. R » 11, 14 {
: mEN |
0,30 | 0.2 1T
5 | . " o:fl
—— s - '_- x
-3, 1) (4, M O X :
\ /
_ {1, -4}
........ B89N |
Ll LI r |

Chapter 1 ' Algebra 2



NAME DATE PERIOD

Write an equation in slope-intercept form for the line that satisfies each set of conditions.

12. slope 3, passes through (1, 0) 13. stope -3, passes through (-1, 2)
14. slope -2, passes through (-5, 0) 15. slope -1, passes through (-2, -1)
16. passes through (2, —1) and (2, -2) 17. passes through (-2, 4) and (1, -8)
18. passes through (0, 2} and (-5, -2) 19. passes through (2, 4) and (0, -5)
Chapter 1
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Quiz on writing Linear Equations of all types Date_OCT Ig}:fzoﬂé)Period_

Write the slope-intercept form of the equation of each line given the slope and y-intercept.

3 2) Slope=—1, y-intercapt=4
1) Slope=——3—, y-intercept = ~-3 ) Slope y-tercep

Ay y=4d4x -1 B) y=—4x~1
4 C) y=—x+4 D) y=—x-1
A) y=—x-3 :
3
B) 4 3
=——x -
S
5
C) y=——x-3
)y 3
4
D) y=-3x——
) ¥ 3
8 , 3 .
3) Slope=—§, y-intercept = 3 4) Slope=5, y-intercept = -3
A) 3x+1 A) : 3
== — _ =X -
)y 3 y 5
8 B) y=—2x-3
B) y=—§x+3 ) y=2x 2
[ 0) y=-3x+5
C) y=§x+3 3
D) y“——*-EJC“'?)

|
D) y=3x+§



Write the slope-intercept form of the eqguation of eack line.

3) A 6) A~
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A) y=-2x+2 B) y=2x-1 A) y=3x-4 B) y=-4x+3
C) y=2x+2 D) y=—x+2 C) y=—x+3 Dy y=x+3
8) S

10

B) y=5x——
) y=5x 3
210

C) y="x-——
) Y=
D)y=—5x—13—0

Write the slope-intercept form of the equation of the line through the given point with the given slope.

9) through: (-1, 0), slope=4 10) through: (1, 4), slepe =undefined

Ay y=—dx+4 B) y=-3x+4 Ay y=-x B) y=-5x-1
C) y=4x+4 D) y=4x-4 C) y=-1 D)yx=1



9
11) through: (3, 3), slope= % 12} through: (-4, —4), slope= Z

A) 1 +1 A) 5 -;-9 B) o +5
= =X = X _ =—X -_
Y 3 Y 4 ¥y 4
5 9 5
B) y=——x+1 C) y=—x+35 Dy y=—x+—
2
C) y=—x+1
) ¥ 3%
- 2
D)y y=——x+1 : _ '
Write the sfbpe—intercept form of the equation of the line through the given peints.
13) through: (0, -5) and (3, -1) 14) through: (-2, 2) and (1, -5)
A) y=x-5 N 8
B) y=5x-5 A) y=—x—
4 8
C =——X”5 =Y -
)y 3 _ B) y=x 3
4 7 8
D) y=—x-5 =——x——
)% 3x C) y 3x 3
8
D =——x—-—
)y 3
15) through: (3, 4) and (0, 2) 16) through: (-4, -2) and {3, —4)
2 Ay y=-2x-10
A) y_~3x+2 B) y=2x-10
2 C) y=10x-2
B) y=2x+“§ D) y=-10x-2
2
C) y=§x+2



Write the slope-intercept form of the equation of the line described.
17) through: (-5, -5), parallelto y=2x-35

A) y=2x+5 B) y=5x+2
C) y=-5x+2 D) y=-2x+5

2
18) through: (-5, 2), parallel to y=gx— 5
2 2
A) y=x+— B y=—dx+—
) y=x 5 )y s

2 ] 2
C) y=gx+4 D) y=4x+g

19) through: (5, -3), parallel to y=—x
A) y=—4x+72 B) y=x+2
C)yy=—x+2 D) y=2x-1 A) y=4x+1 B) y=x+4

5
20) through: (-2, -4), parallel to y = Ex -3

5
C) y=x+1 D) y=5x+1

3 22) through: (2, 0), tov=-2x+3
21) through: (3, 0), perp. o y="x~4 ) through: (2, 0), perp. to y =—2x

A) y=~1~x*—1~
4 22
Ay y=——x+4
3 ! 1
B) y=——x+—
4 2" 2
B) y=—x+4
3 I
s C) yzgx—l
C) y=4x—§ !
5 D) y=—x+5
D) y=—§x+4

24) through: (3, 0), perp.to y=—x+2
A) y=3x+1 B) y=—4x+1
C)y=x-3 D) y=—3x+1

5
23) through: (5, 2), perp.to y = —Ex -1
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Study Guide Graphing Linear inequalities (Oct 2, 2020)

Graph Linear Inequalities A linear inequality, like y > 2x — 1, resembles a linear equation, but with an inequality
sign instead of an equals sign. The graph of the related linear equation separates the coordinate plane into two half-planes.
The line is the boundary of each half-plane.

To graph a linear inequality, follow these steps.
Step 1 Graph the boundary; that is, the related linear equation. If the inequality symbol is < or >, the boundary is solid.
If the inequality symbol is < or >, the boundary is dashed.

Step 2 Choose a point not on the boundary and test it in the inequality. (0, 0) is a good point to choose if the boundary
does not pass through the origin.

Step 3 If a true inequality results, shade the half—plane containing your test point. If a false inequality results, shade the
other half-plane.

Example: Graph x + 2y > 4.
The boundary is the graph of x + 2y = 4.
Use the slope-intercept form, y = — %x + 2, to graph the boundary line.

The boundary fine should be solid.
Test the point (0, 0).

0+2(0)> 4 0, )= (0.0)
0>4 false

Shade the region that does not contain (0, 0). . SR

Exercises
Graph each inequality.
Ly<3x+1 2.y>x-5 J.4x+y=<-1
g o yrr—rr— @ T
= . o[ 1| %
4.y<s-4 5.x+y>6 6.0.5x—0.25y< 1.5
j y 124
....... o x o " ""{'
5 ;
4 A S I o e e O
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Study Guide and Graphing Linear Inequalities
Apply Linear Inequalities A constraint is a condition that the solution of a problem must satisfy.

Example: A manufacturing company wants to determine the possible size of containers in the shape of
rectangular prisms to use to store their products. It has been determined that the sum of height of the prism and
the perimeter of the base must be less than or equal to 419 inches. Write an inequality to represent the possible
height and perimeter of base of the storage containers. Then graph the inequality.

Define variables.

Let / represent the height of a storage box.
Let p represent the perimeter of the base of a storage box.

Identify the inequality symbol and write the inequality.

The sum can equal 419 inches, but not exceed 419 inches,
s0 the inequality symbol is <.
The inequality is 2+ p <419.

w0 12
Graph the boundary line 2+ p=419. 456

00

& 0

Test the point (0, 0). E 2222
h+p<419 Original inequality & :x -
(0) +(0)< 419 (h,p)=(0,0) - 100
0 <419 true s0 i
Shade the region that contains (0, 0). ¢ W 20,30 W 50
Exercises

1. A bookstore sells folders and notebooks. Folders each cost $2.50 and notebooks each cost $1.25. The manager of the
bookstore wants to eamn at least $100 each week for selling folders and notebooks. Define variables and write an
inequality to represent the possible numbers of folders and notebooks that need to be sold each week to meet the
manager’s goal. Then graph the inequality.

a0 |
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Graphing Linear Inequalities (Oct 5, 2020)

Graph each inequality.
Ly>1
- T
2] x
4.x+3<y
Iy
) X
Tx-y>=2
i y ...............
~ O X
16.y—-7<-9
¥
0 X

DATE PERIOD
2.y<x+2 Jx+y=<4
¥i ¥
5 I e e
“T6 X
¥
5.2—-y<x 6.y>—x
¥ ¥
) 0 X . 8 x
8.9x+3y—-6<0 9. y+1>2x
T .
= o] X a X
11.x> -5 12.y—x>1
¥
~ r 7 X
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Chapter 1 Mid-Chapter Test

Part I
For Questions 1-5, write the letter for the correct answer in the blank at the
right of each question.

1. MULTIPLE CHOICE If 7n + 3 = g what is the value of 71 + 59

A2 B cl D_=>
2 3 3 21

2. Solve 6(x - 5)=x+ 5.
| ) G0 H7 J5

3. Write an equation in standard form for the line that is parallel to the graph of

—8x =5 — 4y and has y-intercept —0.5.
Ax—05r=025 Bl0x—5y=25 Ciax-2y=1 D2x—y=1

4, Find the slope of the line that passes through (-"4.5,%) and (3, 3.5).
F —§ G-6 H undefined Jo

3. The graphs of which pair of lines are perpendicular?
A2x—3y=12,y=-§x+5 Cy=dx+13,p=2y-13
B3x+2p=6,2x-3y=7 Dx+y=12p="2x+2

Partli
6. Solve 2x + 5> 11.
7. Define a variable, write an equation, and sofve the problem. Adults® tickets

to a play cost $5 and students’ tickets cost $2. If 295 tickets were sold and a
total of $950 was collected, how many students” tickets were sold?

8. Solve h= = for b.
2a

9. Write an equation in slope-intercept form for the line that has a slope of —-;v
and passes through (-6, 1).

10. Write an equation in slope intercept form for the line that passes through
(3, 5) and is perpendicular to the line with equation y = %(x +2).

11. Graph y > —2x.

Chapter 1
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Algebra 2 Name

writing equations in slope intercept form (oct6§,2020) Date Period

Write the slope-intercept form of the equation of each line.

1) 1Ix+3y=9 2) 5x—-4y=10
3) 13x+5y=-40 4) 2x—y=-8
5) 9%+ y=-4 6) 3x+5S5y=-35
7y Sx—-Ty=-21 8) 2x+y=-6

9) 12x+ Ty =—49 10) 2x —3y=—9
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Name__ Date_0cT 7'¢ g‘ﬂ\ Per
Investigation: Solutions to Systems of Ecjuations ,CJ;::)
|94

1. Show that the following points are solufions to the equation y = 3x — 1. Explain. (Hint: plug the
values from the ordered pair into the equation for x and y)

(1,2) (2 5)

Two solutionsto y = 3x — 1 are and

2. Graphtheliney=3x-1

3. Do the points (1, 2} and (2, 5) lie directly on the line you graphed 3

ofy=3x-1 2

4. Choose a different point that lies directly on the graph of the line

y=3x—1.( . ) Show dlgebrdically that the point you 2

chose is also solution o the equation y = 3x — 1.

3
=}
sl

5. Based on your answers in #1, #3 and #4, make a conjecture about the location of ALL of the
points in the coordinate plane that are the solutions to y = 3x — 1. Will they lie on the line, above
the line, or below the line?

6. List one more solution to the equation y = 3x — 1 by looking at the graph and using your
conjecture from #5.

7. Graph the line y = —2x + 4 on the same coordinate plane above,

8. List two solutions to y = —2x + 4 by looking at the graph and using your conjecture from #5.

?. Do the fines y = ~2x + 4 and y = 3x — 1 have any points in common? if so, list them here.

10. Is the point you listed in #9 a solution to both of the equations y = —2x + 4 and
¥ = 3x — 17 Explain how you know.

11. Summarize how you can find g solution that satisfies two Iinear equations simulianeously, by
looking at their graphs.

© 205 The Enlightened Elephont



A. Use the graphs to identify the solution 10 each system of equations.

* #
fl \ = 4
=
‘K /
=3 IS C R R R [\;; ﬁ-h 5 -% 1 z | I 3 & 6:
+ A
-'6* "3,{;
1. Solution: 2. Solution:
B. Solve each sysitem of equations by graphing.
1
o 2
y=zx—4 y=—zx+2
y=-—x+2 y=2x—56
4 4
-ﬂ'
N = P 2N ;> “TELEE LR | £ &
=31
’D“ "D”:
3. Solution: 4. Solution:

©® 2015 The Enlightened Elephent
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Investigation: Solutions to Systems of Equations p

W

1. Are the following points solutions fo y = 3x ~12 Explain how you know. (hint: plug the
values in for x and v info the equation)
(1, 2): (2, 5):

2=3{1}-1 : 5=3{2})-1

Yes these points are both solutions since the equations are true for

each set of values. ,\ﬁA
Graph the line y = 3x - 1 and then answer the questions below.
2. Dothe points (1, 2) and (2, 5) lie directly on the line you \ /
graphed of y =3x -12

Yes o / 5
oy Lt &
3. Choose a different point on the line y = 3x -1 by looking at /
the graph. Prove algebraically, by plugging in the values for x
and y, that the point you chose is a solufion to the line y =3x-1. / X
{0.-1}): -1=3(0}-1
v

v

4. Based on your answers in #1, #2 and #3, where on the coordinate plane do you think
all of the solutions to y = 3x -1 will lie2 On the line, above the line, or below the line?

On the line

3. List one more solution to the equation y = 3x -1 by looking at the graph and using your
conjeciure from #4.

(-1.-4)

Now graph y = -2x + 4 on the same coordinate plane above.

7. List ’rwc’:' solutions fo y = -2x + 4 by looking at the graph and using your conjecture from
#4.

(2, 0), {0.4)
8. Dothe linesy =-2x+ 4 and y = 3x - 1 have any points in common? If so, list them here.

(1.2)

9. Isthe point you listed in #8 a solution o both of the equations y = -2x + 4 and
y =3x- 12 Explain how you know.

yes, solutions to the equations are poinis on the lines

10. Summarize how you can find a solution that satisfies two linear equations
simultaneously by looking at their graphs.

look for the point on both lines, where they intersect

€ 2015 The Enfightened Bephani
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1. Solution:

B. Solve each system of equations by graphing.

! 4
=—x'---
Y=3
y=—-x+2
T4
L]
b\ ¥
\ B
\ -
N
\
F]
<
:n—v N Y EYEE ;:s/’a/s’j?y
PN
- ™N
i N\
— > \
» _ \)q:

3. Solution;

Write the solution to each system of equations.

ot 7 &
N
]'
/
/
/
/ 5.
ﬁ”"‘"‘*—-—...____ ! raf
R
[~
/
/
¥ W
2. Solution:
= 2 + 2
y=2x—6
b
‘\\k k4
N T
\‘_ »
\\;\ A
i\\‘ //
{‘ED- o= - b -k K 3 N :} \: FEE B 91?
T \\
5 / \\\
;/ \‘\
)r'
i
J
4, Solution:

© 205 The Endightened Elephant
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Study Guide Solving Systems of Equations

Solve Systems Algebraically To solve a system of linear equations by substitution, first solve for one variable in
terms of the other in one of the equations. Then substitute this expression into the other equation and simplify. To solve a
system of linear equations by elimination, add or subtract the equations to eliminate one of the variables.

Example 1: Use substitution to solve the system of equations.

Solve the first equation for y in terms of x.

2x—y=9 First equation
—p==-2x+9 Subtract 2x from bath sides.
y=2x-9 Multiply both sides by —1.

Substitute the expression 2x — 9 for y into the second
equation and solve for x,

2x—p=9
x+3y=-6
Now, substitute the value 3 for x in either original
equation and solve for y.

2x—y=9
2(3)~-v=9

6—y=9 Simplify,
-y=3 Subtract 6 from each side.

First equation

Replace x with 3,

y=-=-3 Multiply each side by —1.
The solution of the system is (3, —3).

x+3y=—6 Second equation
x+3(2x-9)=— Substitute 2x — 9 for y.
x+ox-27=-4 Distributive Property
Ix—-27=-6 Simplify.
=21 Add 27 {o each side.
x=3 Divide each side by 7.
Example 2: Use the elimination method to solve the system of equations.
Ix-2y=4
5x + 3y =-125

Multiply the first equation by 3 and the second equation
by 2. Then add the equations to eliminate the y variable.

Jx-2p=4 Muitiply by 3. Ox—6y= 12
S5x+3v=-25 Multiplyby2. 10x+ 6yv=-50
19x =-38
x =-2
Exercises

Solve each system of equations.

L3x+y=7 2. 2x+y=5
4x+2v=16 3x—3y=3

4.2x—yp=7 5.4x—y=6
6x—3y =14 x—2=4

7. 2x+y=8 8. Tx+2y=-I
3x+§y=l2 4x —3p=-13

Chapter 1

Replace x with -2 and solve for y.
Jx-2y=4
3(2)-2p=4
—6-2y=4
—2y=10
y=~5
The solution is (-2, -5)

3.2x+3y=3
x+2y=2

6.5x+2p="_2
~6x —2y=-14

9.3x+8y=-6
x—y=9

Algebra 2
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Study Guide Solving Equations by Graphing (continued)

Solving Equations by Using Graphs of Related Functions The solution of an equation is called the root of the
equation. The root of an equation is related to the zero of a function. The zero of a function fis the value of x for which

Jixy=0.

Example: Find the root of the quadratic equation —2x + 2 = 0, by graphing the related function,.

Step 1: Write the related function. Step 2: Graph the function.
Equation: 2x+2=0 ' —
Related Function: fix)=-2x+2 \\é
Step 3: Find the zero of the function. %\
The zero of the function is the x-intercept. s
The x-intercept of the graph is 1. i i
So the solution, or root, to the original equation, -2x+2=0,is1. "™ :g IIIIIIIIIIIIIIIIIIIIIII
! v
Exercises ‘ —
Selve each equation by graphing its related function.
1L.2x—2=0 2ox + 4=0 3.—x+3=0
fg 7V e T f{x) e
n O X gl _ X 2 X
4.x+5=0 5.~ 2x +2=0 6. —x = 0
6 IECA N L
3 ¥ 0, X

Chapter 2 Algebra 2
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Skiils Practice Solving Systems of Equations

Solve each system of equations by elimination.

l.-r+1=5 2.2x—y=-5 3.x-3y=-12
=2r+r=4 dx+y=2 2x+y=11
4.2p-3r=6 5.6w-8z=16 b.cTd=6
—2p+3r=-6 3w—4z=8 c—d=0
T 2u+dx=-6 8.3a+bh=-1 9.2x+y=6
u+2x=73 -Ba+b=5 3x—-2y=16
19.3y—z=-6 1l.c+2d=-2 12.37-21=1
—3y-z=6 ~2¢c—5d4=3 2r—3f=9

13. The sum of two numbers is 12. The difference of the same two numbers is —4. Find the numbers.

14. Twice a number minus a second number is —1. Twice the second number added to three times the first number is 9.
Find the two numbers.

Chapter 1 . October 12t Algebra 2
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Skills Practice Solving Systems of Inequalities by Graphing

Solve each system of inequalities by graphing,

L.x<1 2.x2-3 I.x<2
yz-1 yz-3 x> 4
e T — Ty

o X ) 0 ¥ NN X
4yzx 5.y <-4x 6.x—y>-1
y=-=x y=3x-2 Ix—p<4
] ¥ 7 R— JI ..... S 17 7
0 X ) 0 X ) 0 %
i
l r
7.y<3 8.y<-2x+3 9.x—y<4
T g T T
B X [e; X O X

Chapter 1
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Algebra 2

solving systems by substitution

Solve each system by substitution.

1}y 2x+ y=-8
-x—-y=38

3) —8x—5y=9
X+ 4y=—18

5) x+2y=-5
X +2y=-3

Name

( oct 14th) Date

2) 5x+2y=-19

—4x+y=-3
4) x+2y=0
~Tx-7y=-21

6) -2x+y=-10
—4x+ 5y =-20

Period



7) 3x+p=11

2x+4y=-16
N ~Tx+y=-9
2x+3y=19
11y »=0
8x—-5y=-24
13) 4x -5y =16
x—-4y=15

8) Bx+y=-7
24x - 3y=7

10}y —6x+y=11
-x—4y=-19

12) x—8y=-14
~2x+5y=06

14) -3x+8v=-17
~2x+y=6



NAME DATE  10/14/2020 PERIOD
Practice Solving Systems of Inequalities by Graphing
Solve each system of inequalities by graphing.
Ly+1<-x 2.x>2 3.y<2x-3
y=1 2y>3x+6 y5—§x+2
\ v : 5 J— i
o i o X o [ 1.l X
4. x+y>-"12 5.y=<1 6.3y > 4x
3x-yz-2 y<x-1 2x=3y>-6
i . v : T
[¥] X N 5] X
B o X

Find the coordinates of the vertices of the triangle formed by each system of inequalities.

T.yz1—x 8.x—y=<2 9.y=22x-2
y=x-1 x+y<2 2x+3y>6
¥<3 x> -2 y<4

Chapter 1
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Skills Practice Solving Systems of Inequalities by Graphing

Solve each system of inequalities by graphing.

Lx<1 2.x>-3 3.x=2
y=-1 y=-3 x>4
C X ) 0 X [« X
dyzx S5.y<-dx 6.x—y=~1
Yy -x y=3x-2 Ix—yp<
¥ : Y ¥
0O X 0 X ) 0 X
| F
T.y<3 8.y<-2x+3 9. x—-y<4
x+2y<12 y<x-2 Ix+y<4
-y e v -
0 x [} X 2] X
Chapter 1
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